#FB 100m

#OH Kb 5L
FLEREAT - MH A

J OB AERL S (JO) 12.50 JOB AR HE (%) 9A3H 12:30 T &
28k (GR) 1245 kB JOAL Gid - B 2001 (52217]) 9A3H 16:45 % B

T B 4HIE+H4

14H (i +2. 7) 2%H (:0.0)

NEAL V=Y Fun = K4 i RLgk Avh GEE ALV fon - KA i ROgk A b EIE
1 6 1937 EfER-oH(2) AT 12. 59 Q 1 5 411 784 %(2)  (FERE)IH 12.61 Q
2 4 357 FEH EHEFL(2) Ekd 13.04 a 2 6 2629 K HEE(2) EHEF 12. 99 a
3 5 3381 Wy HREQ) ZEWH 13.29 3 4 2187 HA EAH Q) BLF 13.45
43 2299 KH #BEQ  fErEd 13.56 43 2246 fafE BV () TEEAF 13.57
5 8 72 A HEE(2) Bk 13.57 5 8 1292 WM HIR(Q) M 13.68
6 2 2085 £H EE:(©@) HTY 13.64 6 7 256 [LUH FERk(2) B4 14. 09
7 7 2658 WEAT KM SR 13.81 702 71 kAR Fen2) Rk 14.13

3fE (0. 3) 4%H (42, 7)

NEQE V= Fvn' = K4 i FLEk aAVh dEE JEAL V-V funT - K4 i ek TAvh I
13 2438 ZHJII EAK(2) =@EmKHEF 12. 60 Q 1 6 1357 K EmM@Q) EHH 12.73 Q
2 5 708 AHEOEDY (2)  EIHF 13.01 q 2 4 133 ML BEHEQ == 12.83 a
3 4 2565 HiMH Wi(2) fEEh 13.11 37 1337 JH@ Rk ©@) TP 13.45
4 8 319 jHK EE©Q Ao 13.50 4 5 2560 [HAT BEE(2) EEH 13.49
5 6 2657 K HE(2) P 13. 60 5 3 1721 pRE55(Q2) A 13. 60
6 2 1174 FH H¥E Q) Efd 13.63 6 8 2660 A AR S 13. 65
77 896 FEBLE EHK(Q) RPREEH 13. 64 702 2712 fEAR FK(©Q) Ry R 13.65 *TK

W
(Al +0. 9)

NESL V= Fun' = K4 Eilc] gk aAvh
14 411 WA =@ FEE)IF 12.43 JO,GR
2 5 2438 Il EHA(Q) ZHEKHES 12.50 JO
3 6 1937 {EjEROHZ(2)  FhFH 12. 62
4 8 2629 KM MEE(2) EET 12.86
5 3 1357 A4 FLE'E'.(2) B 12.93
6 2 708 FWAOEDYD (2)  EHRHF 13.09
77 133 BiL fEEH Q) = 13.10
8 1 357 P EFL(2) Bw 13.19

FLBI JO:JOBIHEAE T ER GRAR LR ¥TKBEEHY



